
Math 120 - Quiz 4 - November 5 , 2015 

Name and Section S'o I u non s 
Let 

1 
f(.r )== 5 + .r - 3 

l. (1 point) What is the dom1tin of the func t ion f(.r)? 

2. (6 points) Compntc its inverse. 

I 
~-Cj ~ ;:-3 

I - X - 3· T-S -
".t -:.. '3 ;- f 5 

So f- 1 
( x \ ~ rs -r 

\ 
x-5 

3. (2 points) \i\'hat arc the domain anrl range of its inverse J-1 (:r)? 

DoiY\WY\ ... QJJ. nuw r;~rs '2,J/..ttpC- ::l ~s. 

Rei"¥ : aU 11 uw 'o~ n -e :x t.t r t l(j = '.?. 

-!. ( l point) What is the range of J(x )'? 

All l'JUW~o ewpt ~~5 · 

\ 


